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1 Introduction
Channel raster to sub-carrier position mapping was proposed in the WF [1] but because there is little discussion on it so no consensus was made in last meeting. This contribution continues to discuss this issue.
2 Discussion
Two options on raster to subcarrier position mapping were listed in [1] as:

· Options for raster to subcarrier position mapping
· Raster points to the center of the channel 
· SC#0 of RB# NRB/2 for even number of RBs
· SC#6 of RB# int(NRB/2)for odd number of RBs
· Raster points to the SC#0 of RB#0 
Between the two options, it is obvious that option 1 is more reasonable and straightforward. And also it is aligned between 100KHz channel raster and sub-carrier based channel raster. It is not necessary to define two kinds of method on raster to sub-carrier position, so option 1 is preferred.
However, there is another issue on channel raster, which is listed in the WF on carrier leakage frequency [2] but was not agreed in last meeting.

· Whether the carrier frequency should be the same for each sub-carrier spacing should be studied and decided. 
Since for one channel bandwidth, the different sub-carrier spacing has different RBs, e.g. for 15MHz, the RB number is odd for 15kHz but even for both 30kHz and 60kHz, the channel raster will be on different frequency based on above option 1 for each SCS. So it should be clarified first whether the carrier frequency is the same or different for different SCS and if it should be the same, which SCS above option 1 should be applied. In our opinion, the deployed minimum SCS should be used as reference, larger SCS should be placed based on RAN1 agreement.
Proposal 1: When deciding the mapping from channel raster to sub-carrier, the deployed minimum SCS should be used as reference, say, reference SCS. 
Proposal 2: Uplink raster for the deployed minimum SCS (reference SCS) should be placed in the centre of channel as much as possible.
· Raster points to the centre of the channel with reference SCS
· SC#0 of RB# NRB/2 for even number of RBs
· SC#6 of RB# floor(NRB/2)for odd number of RBs
Proposal 3: Channel with the larger SCS should be placed based on RAN1 agreement for PRB alignment in the nested manner and the assumption that the transmission bandwidth configuration, i.e. the number of supported RBs, should be placed in the centre of the channel as much as possible.
3 Conclusion

This contribution discusses how to mapping sub-carrier to channel raster and clarify that:
· it should be clarified first whether the carrier frequency is the same or different for different SCS and 

· if it should be the same, for which SCS above option 1 should be applied. 
In our opinion, the deployed minimum SCS should be used as reference and option 1 in [1] is applied, larger SCS should be placed based on RAN1 agreement (nested PRB and sub-carrier #0 alignment).
Proposal 1: When deciding the mapping from channel raster to sub-carrier, the deployed minimum SCS should be used as reference, say, reference SCS. 

Proposal 2: Uplink raster for the deployed minimum SCS (reference SCS) should be placed in the centre of channel as much as possible.
· Raster points to the centre of the channel with reference SCS
· SC#0 of RB# NRB/2 for even number of RBs
· SC#6 of RB# floor(NRB/2)for odd number of RBs
Proposal 3: Channel with the larger SCS should be placed based on RAN1 agreement for PRB alignment in the nested manner and the assumption that the transmission bandwidth configuration, i.e. the number of supported RBs, should be placed in the centre of the channel as much as possible.
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